Name Date

Numbers Raised to the Zeroth Power

1. Simplify the following expression as much as possible.

10
4_ .70 =
410

2. Letaandb be two numbers. Use the distributive law and then the definition of zeroth power to show that the
numbers a® + b° a®and a® + b° b0 are equal.
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Let x, y be numbers (x,y # 0). Simplify each of the following expressions of numbers.

1. 2.
12
y _ 915, 1 —
12 15
y 9
3. 4.
7 123456.789 * ° = 92 1 95 1
25 22
5.
x4‘l y15
y15 x4—‘1
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1.  Simplify the following expression as much as possible.
410
410

2.

numbers a’ + b° a®and a®+ b° b° are equal.

a’+b° a®=a’-a’+b° a
— a0 4 0"
=a’+a’p®
=1+1-1
=1+1
=2

Since both numbers are equal to 2, they are equal.

Let a and b be two numbers. Use the distributive law and then the definition of zeroth power to show that the

a®+b° b°=a’-b°+b°-pb°

— aObO + b0+0
=a’h’ + b°
=1-1+1
=1+1

=2

Let x, y be numbers (x,y # 0). Simplify each of the following expressions of numbers.

1. 2.
15
v — yl12-12 915.i=9_
yiz - y 915 918
0 — 915715
_y =90
=1
3. a.
7 123456.789 * * = , 1 o1 2228
= 79 123456.789 ¥ S LR A T T
— 92-2,95-5
=7° 123456.789 ° =272
=1 =20.20
=1
5,
41 15 x41 ,y15
E Py Y15 x4
_x41 y15
=yt
— x41—41 . y15—15
= x° ,yo
=1
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